

M2REG-INDINT-2223-ASM-SET 5-MATH

建議題解

$$1. a\left(\frac{1}{a}\right)^2 - 3\left(\frac{1}{a}\right) - 6 = -5 \quad 1M$$

$$-\frac{2}{a} = 1$$

$$a = -2$$

1A

$$f(x) = \int (-2x^2 - 3x - 6) dx \quad 1M$$

$$= -\frac{2x^3}{3} - \frac{3x^2}{2} - 6x + C$$

$$120 = -\frac{2}{3}(-6)^3 - \frac{3}{2}(-6)^2 - 6(-6) + C \quad 1M$$

$$C = -6$$

$$\text{因此, } f(x) = -\frac{2}{3}x^3 - \frac{3}{2}x^2 - 6x - 6. \quad 1A$$

$$2. \frac{dy}{dx} = \int \frac{8}{e^{2x}} dx \quad 1M$$

$$= -4e^{-2x} + C_1$$

$$y = \int (-4e^{-2x} + C_1) dx$$

$$= 2e^{-2x} + C_1x + C_2 \quad 1A$$

當 $x = 0$,

$$\begin{cases} -4e^{-2(0)} + C_1 = 1 \\ 2e^{-2(0)} + C_1(0) + C_2 = 7 \end{cases} \quad 1M$$

求解後, 可得 $C_1 = 5$ 及 $C_2 = 5$. 1A

因此, 該曲線的方程為 $y = \frac{2}{e^{2x}} + 5x + 5$. 1A

$$3. \text{ 設 } u = x^2. \text{ 則 } du = 2x dx. \quad 1M$$

$$y = \int 2x^3 e^{x^2} dx \quad 1M$$

$$= \int ue^u du$$

$$= ue^u - \int e^u du$$

$$= ue^u - e^u + C \quad 1A$$

$$= x^2 e^{x^2} - e^{x^2} + C$$

$$4 = e^1 - e^1 + C$$

$$C = 4$$

所求方程為 $y = x^2 e^{x^2} - e^{x^2} + 4$. 1A

$$4. \frac{dy}{dx} = \int (4e^{2x} - e^{-x}) dx \quad 1M$$

$$= 2e^{2x} + e^{-x} + C$$

$$\text{在 } (0, 2), \frac{dy}{dx} = 2 \text{ 及}$$

$$2 = 2 + 1 + C$$

1M

$$C = -1$$

$$y = \int (2e^{2x} + e^{-x} - 1) dx$$

$$= e^{2x} - e^{-x} - x + C_1$$

$$\text{當 } x = 0, y = 2, \text{ 可得 } C_1 = 2。$$

1M

$$\text{該曲線的方程為 } y = e^{2x} - e^{-x} - \frac{5x}{2} + 2。$$

1A

$$5. \quad (a) \text{ 設 } u = x^2, \text{ 則 } du = 2x dx。$$

$$\int 2x^3 \cos(x^2) dx = \int u \cos u du \quad 1M$$

$$= u \sin u - \int \sin u du \quad 1M$$

$$= x^2 \sin(x^2) + \cos(x^2) + \text{常數} \quad 1A$$

$$(b) \quad (i) y = \int 2x^3 \cos(x^2) dx = x^2 \sin(x^2) + \cos(x^2) + C$$

$$\text{代 } (\sqrt{\pi}, -1), \text{ 可得 } C = 0 \quad 1M$$

$$\Gamma \text{ 的方程為 } y = x^2 \sin(x^2) + \cos(x^2)。$$

1A

$$(ii) \text{ 切線的斜率 } = 2\pi^{\frac{3}{2}} \cos \pi = -2\pi^{\frac{3}{2}} \quad 1M$$

方程為

$$y + 1 = -2\pi^{\frac{3}{2}}(x - \sqrt{\pi})$$

$$y = -2\pi^{\frac{3}{2}}x + 2\pi^2 - 1 \quad 1A$$

6. (a) 設 $u = 1 + x^3$ 。則 $du = 3x^2 dx$ 。 1M

$$\begin{aligned}\int \frac{x^5}{\sqrt{1+x^3}} dx &= \frac{1}{3} \int \frac{u-1}{\sqrt{u}} du & 1M \\ &= \frac{1}{3} \int (u^{\frac{1}{2}} - u^{-\frac{1}{2}}) du \\ &= \frac{2}{9} u^{\frac{3}{2}} - \frac{2}{3} u^{\frac{1}{2}} + \text{常數} \\ &= \frac{2}{9} (1+x^3)^{\frac{3}{2}} - \frac{2}{3} (1+x^3)^{\frac{1}{2}} + \text{常數} & 1A\end{aligned}$$

(b) $y = \int \frac{9x^5}{2\sqrt{1+x^3}} dx$ 1M

$$= \frac{9}{2} \left[\frac{2}{9} (1+x^3)^{\frac{3}{2}} - \frac{2}{3} (1+x^3)^{\frac{1}{2}} \right] + C$$
 1M

$$= (1+x^3)^{\frac{3}{2}} - 3\sqrt{1+x^3} + C$$

$$3 = 1 - 3 + C$$
 1M

$$C = 5$$

所求方程為 $y = (1+x^3)^{\frac{3}{2}} - 3\sqrt{1+x^3} + 5$ 。 1A

7. (a) $f'(1) = \frac{2-5+10}{1} = 7 > 0$. 1M

因此， $f(x)$ 不是遞減函數。 1A

(b) (i) $y = \int \frac{2x^2 - 5x + 10}{x} dx$ 1M

$$= \int (2x - 5 + 10x^{-1}) dx$$

$$= x^2 - 5x + 10 \ln x + C$$

$$5 = 1 - 5 + 10 \ln 1 + C$$
 1M

$$C = 9$$

Γ 的方程為 $y = x^2 - 5x + 10 \ln x + 9$ ，其中 $x > 0$ 。 1A

(ii) $f''(x) = 2 - \frac{10}{x^2}$ 1A

當 $f''(x) = 0$ ， $x = \sqrt{5}$ 或 $-\sqrt{5}$ （捨去）。

x	$0 < x < \sqrt{5}$	$x > \sqrt{5}$
$f''(x)$	-	+

 1M

當 $x = \sqrt{5}$ ， $y = 5 - 5\sqrt{5} + 10 \ln \sqrt{5} + 9 = 14 - 5\sqrt{5} + 5 \ln 5$ 。

拐點為 $(\sqrt{5}, 14 - 5\sqrt{5} + 5 \ln 5)$ 。 1A

(iii) $x > \sqrt{5}$ 1A

$$8. \quad (a) \quad \int x e^x dx = x e^x - \int e^x dx \quad 1M$$

$$= x e^x - e^x + \text{常數} \quad 1A$$

$$(b) \quad \text{設 } u = 4 - x^2 \text{。則 } du = -2x dx \text{。}$$

$$y = \int (x^3 - 4x^2) e^{4-x^2} dx \quad 1M$$

$$= \frac{1}{2} \int u e^u du \quad 1A$$

$$= \frac{u e^u}{2} - \frac{e^u}{2} + C$$

$$= \frac{(3 - x^2) e^{4-x^2}}{2} + C$$

該曲線通過 (2, 5) ,

$$5 = \frac{-e^0}{2} + C \quad 1M$$

$$C = \frac{11}{2}$$

$$\text{曲線的方程為 } y = \frac{(3 - x^2) e^{4-x^2}}{2} + \frac{11}{2} \text{。} \quad 1A$$

$$9. \quad (a) \quad \text{設 } x = 3 \tan \theta \text{。則 } dx = 3 \sec^2 \theta d\theta \text{。} \quad 1M$$

$$\int \frac{dx}{x^2 + 9} = \int \frac{3 \sec^2 \theta}{9 \tan^2 \theta + 9} d\theta \quad 1M$$

$$= \frac{1}{3} \int d\theta$$

$$= \frac{\theta}{3} + \text{常數}$$

$$= \frac{1}{3} \tan^{-1} \frac{x}{3} + \text{常數} \quad 1A$$

$$(b) \quad y = \int \frac{x^2}{x^2 + 9} dx$$

$$= \int \left(1 - \frac{9}{x^2 + 9} \right) dx \quad 1M$$

$$= x - 3 \tan^{-1} \frac{x}{3} + C, \text{ 其中 } C \text{ 為一常數。} \quad 1A$$

$$6 = x - 3 \tan^{-1} 0 + C \quad 1M$$

$$C = 6$$

$$\text{所求方程為 } y = x - 3 \tan^{-1} \frac{x}{3} + 6 \text{。} \quad 1A$$